FRHICE L ERBAREAEER (MR - BEATREXF - RABEXF]

jal}

BIER BITE 5 PR B 5E BE KiE  |BEE (uSv/h)
T4 48 28 (A) |[RFATEFR 10:00 BEh 0. 057
48 (K) |E=BT#RE XA 10:00 BEhn 0.070
68 (&) |[EAKREXM 10:00 Eh 0. 060
98  (R) |FHm&AR 10:00 BEh 0. 063
118 0K |S=ET#REXAT 10:00 58] 0. 067
138 (&) |RoKEeXmR 10:00 i 0. 063
168 (R) [F#m&r 10:00 £ 0. 063
188 (K) |S=ET#EXAT 10:00 BEhn 0.070
208 (&) |[EAKREXF 10:00 INFE 0. 060
238 (A) |[FWH&ET 10:00 £ 0.070
258 (OK) |==ETHREXF 10:00 BEhn 0. 067
218 (&) |[EAHKREXF 10:00 BEhn 0. 060
5 1B () |EBHER 10:00 Eh 0. 063
28 OK) |S=RETHREXA 10:00 £Y 0.067
18  (R) |FHm&R 10:00 Eh 0. 063
98 (K) |E=BT#RE XA 10:00 =Y 0. 063
1MB (&) |RAKRE&EXmm 10:00 BEhn 0.070
148 (B) |(F#H#&%FET 10:00 BEn 0. 060
168 (OK) |S=ET#EXAT 10:00 =Y 0. 067
188 (&) |RoKEXAR 10:00 BEhn 0. 060
218 (B) |[#Bh&er 10:00 = 0. 050
238 (OK) |==ETHREXF 10:00 = 0.070
258 (&) |[EAHKREXF 10:00 £ 0.070
288 (B) |[F#BNHRAT 10:00 E= 0. 057
0B  (K) |==ETHREXF 10:00 BEhn 0. 060
6A 18 (£) |RAKREXR 10:00 BEn 0. 060
48 (R) |FEm&AER 10:00 Eh 0. 060
68 (K) |E=BT#RE XA 10:00 BEn 0.070
88 (&) |RBKEXM 10:00 BEh 0. 060
1na (B |FWBH*%eE 10:00 = 0. 060
138 (OK) |S=ET#EXAT 10:00 BEn 0.070
158 (&) |RoKEXAR 10:00 BEn 0. 063
188 (R) |FMH#&Fr 10:00 BEn 0. 057
208 (K |==ETHREXF 10:00 =Y 0. 063
228 (&) |[EAKREXF 10:00 BEn 0. 063
258 (B) |[#BNH&PT 10:00 BEn 0. 050
218 (OK) |==ETREXF 10:00 =Y 0. 067
298 (&) |[EAKREXF 10:00 BEhn 0. 067




FBHICH TS ERBEHREAEER (KA -

jal}

AT HS

%

BX

BIER BITE 5 PR B 5E BE KiE  |BEE (uSv/h)
1A 28 (B) |EBHER 10:00 Eh 0. 050
48 (K) |E=BT#RE XA 10:00 BEn 0.063
68 (&) |EAKREXM 10:00 £Y 0. 060
98  (R) |FHm&AR 10:00 Eh 0.053
118 0K |S=ET#REXAT 10:00 BEn 0. 057
138 (&) |RA#KREXm 10:00 £ 0. 060
178 (K) |[FAH&RT 10:00 Eh 0. 050
188  (K) |S=ET#EXAT 10:00 BEn 0.063
208 (&) [EAKEXF 10:00 BEn 0. 050
238 (B) [#EBNH&eT 10:00 BEn 0. 060
258 (OK) |==ETREXF 10:00 BEn 0.067
21B (&) |[EAHKEXF 10:00 BEn 0. 060
308 (B) [#EBH&RT 10:00 BEn 0.063
8A 18 (K) |E=BT#RE XA 10:00 BEn 0.073
3H (£) |ROKREXRA 10:00 BEn 0.063
68 (A) |FHm&AR 10:00 £Y 0. 060
8H (K) |E=BT#RE XA 10:00 BEn 0.067
108 (&) |RoKREeXAR 10:00 BEn 0. 060
138 (R) F#m&r 10:00 £ 0. 060
158 (OK) |S=ET#EXAT 10:00 BEn 0.067
178 (&) |RA#KRE&Xm 10:00 BEn 0. 060
208 (B) [#EBNHRPT 10:00 BEn 0. 050
228 (K) |==ETHREXF 10:00 BEn 0.067
248 (&) |[EAHKREXF 10:00 BEn 0. 060
218 (B) |[#EBNh&er 10:00 BEn 0. 060
298  (OK) |==ETHREXF 10:00 BEn 0. 060
318 (&) |EAKEXM 10:00 BEn 0. 060
98 38 (R) |FHm&A 10:00 Eh 0. 060
5H (K) |E=BT#RE XA 10:00 BEn 0.070
8 (&) |[EAKREXM 10:00 Eh 0. 057
108 (R) |(F#H#&eEr 10:00 BEn 0. 060
128 (OK) |S=ET#EXAT 10:00 BEn 0.067
148 (&) |RA#KRE&Xm 10:00 BEn 0. 060
188 (K) |[1FARTH&FT 10:00 Eh 0. 060
198 (OK) |S=ET#REXAT 10:00 58] 0.067
218 (&) |EAKEXM 10:00 i 0.057
248 (B) |[#EBNHh&PT 10:00 BEn 0. 060
268 (K) |E=ETHREXF 10:00 BEn 0.067
28B (&) |[EAHKREXF 10:00 BEn 0.057




FEBHRICH T EZHBSGREANERR (MR - SRETREXR - RAHBEXF]
BIER BITE 5 PR B 5E BE KiE  |BEE (uSv/h)
10R 18 (A) |EPHER 10:00 Eh 0. 050

38 (K) |E=BT#RE XA 10:00 = 0.067
5H (£) |RAKREXA 10:00 n 0.053
98 (K |FIT&EAER 10:00 h 0. 060
108 (0OK) |S=ET#EXAT 10:00 BEn 0.070
128 (&) |RAKREXmM 10:00 n 0. 060
158 (B) |FBH#&FEr 10:00 n 0.067
178 0OK) |S=ET#EXAT 10:00 £ 0.070
198 (&) |RAKREXmM 10:00 n 0. 060
228 (B) |[#EBNH&RT 10:00 n 0. 050
248 (K) |==ETHREXF 10:00 n 0. 057
268 (&) [EAKREXF 10:00 BEn 0. 060
298 (B) |[#BH&Pr 10:00 BEn 0.053
318 (K) |E=ETREXF 10:00 n 0.063
1MA 28 (&) |EAKREXA 10:00 h 0. 060
58 (R) |FHm&AR 10:00 h 0. 057
18 (K) |E=BT#RE XA 10:00 = 0.067
98 (&) |EBKREXM 10:00 Eh 0. 060
LI, #BOA VT FURRETFOEOAERL

TSR 128 & Y R B




FRHICE L ERBAREAEER (MR - BEATREXF - RABEXF]

jal}

BIER BITE 5 PR B 5E BE KiE  |BEE (uSv/h)

28 128 () [FBHEET 10:00 £ 0. 060
138 (OK) |S=ET#EXAT 10:00 i 0. 060
158 (&) |RAKREXm 10:00 ES 0.070
188 (R) |F#MH#&FEr 10:00 ES 0.090
208 (OK) |==ETREXF 10:00 BEn 0.063
228 (&) |EAHEXM 10:00 BEn 0.057
258 (B) [#BNH&RAT 10:00 BEn 0.067
218 (OK) |==ETREXF 10:00 58] 0.070

3R 18 (®£) |ROKREXRA 10:00 i 0. 050
48 (R) |FEm&AR 10:00 Eh 0. 060
68 (K) |E=BT#RE XA 10:00 BEn 0.067
88 (&) |RBKEXM 10:00 Eh 0. 060
1nBa (B |(FWBH%eEr 10:00 BEn 0.053
138 (OK) |S=ET#EXAT 10:00 BEn 0.063
158 (&) |RoKREXAR 10:00 BEn 0. 060
188 (R) [F#m&r 10:30 £ 0.053
218 (K) |S=ET#REXAR 10:00 Eh 0. 060
228 (&) |EAHBEXM 10:00 BEn 0.053
258 (A) |[FWH&Er 10:00 £ 0. 060
218 (OK) |==ETHRE&XF 10:00 =Y 0. 060
298 (&) |[EAKREXF 10:00 BEn 0.057




